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1 |deiEE 3.2E+1 31.5 315
2 |FEHER 2 1E+0 21 2.1
3 | 5FER 1.9E+1 19.3 19.3
4 |=EE 1.7E+1 16.6 16.6
5 |FHEE 8.1E+0 8.1 8.1
6 [ILEE 4 0E+0 4.0 40
7 |EEBR 2.1E+1 20.9 20.9
8 |ZWE 3.8E+0 3.8 38
9 |HEKRE 2.4E+0 2.4 2.4
10 [HEE 2 0E+1 19.6 196
11 |BEE 3.1E+1 30.9 9.2E+1 92.0 122.9
12 |FEER 1.5E+0 15 15
13 |REE
14 |fRIE 3.4E+0 3.4 3.4
15 |#FiRE 9.0E+0 9.0 9.0
16 |SWE 3.0E-1 0.3 0.3
17 _[RINE 4 3E+1 425 425
18 |[fEHE 3.2E+0 3.2 32
19 |ILBE
20 |EHE 1.3E+1 12.5 125
21 [IHBE 2.7E+1 27.0 27.0
22 |EER 2.1E+1 21.3 213
23 |BHIE 4.1E+1 40.7 40.7
24 |[ZEE 1.6E+0 1.6 1.6
25 |HER 2.7E+0 2.7 2.7
26 |[TRHEDAF 1.5E+1 15.0 15.0
27 | KBRFF
28 | EER 2 1E+1 21.4 214
29 |ERE 5.0E-1 0.5 05
30 [fOFRILE 3.9E+0 3.9 39
31 |EmE 6.0E-1 0.6 0.6
32 |BiRE 3.4E+0 3.4 3.4
33 |[EWLER 1.9E+1 19.0 19.0
34 |[LER 2.0E+0 2.0 2.0
35 [wOg 5.0E-1 0.5 05
36 |[EER 2.0E+0 2.0 2.0
37 _|FBINER 1.0E-1 0.1 0.1
38 |BRER 1.0E+1 10.4 10.4
39 |=BHER 6.0E+0 6.0 6.0
40 |fEEE 1.3E+1 13.4 13.4
41 |#EER 8.0E+0 8.0 8.0
42 |RBE 5.3E+0 5.3 5.3
43 |[RBEXRE 1.7E+1 17.4 17.4
44 | KHE 1.6E+1 15.9 15.9
45 [EIBE 3.9E+0 3.9 3.9
16 |EREE 2.8E+0 2.8 2.8
47 ipieiR 2.9E+0 2.9 2.9
& [F 4.8E+2 479.3 9.2E+1 92.0 571.3
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